E"I 1;2“ 1 zllxﬁll S 2“14" — .'I- 4“14" — 4"!5"
Y

-. .- — 1/8" plywood




— Arm Support available for
by IPTCI, part number UCF205-16 — / purchase from Oaklandballistics.com
Available from Motion Industries |

Release Pin available for _— Included with arm support
purchase from Oakland Ballistics \

set screw shaft collar, 1" inner diameter,
Available from Motion Industries







Er 3”
5'711/32"

3/8" bolt 6"




3/8" bolt 4"
3/8" bolt 4"




— Steel Angles

Vo 1/4" steel plating
| q
]
B
I
\” |
Il

| 1I ?II
I
I
I
et
o I
e,
._\_\_.'\-._\__.
-
==y
o T






11/2"

41119/32 1/2" plywood

3/8" boltx 71/2"




I B O I—
i
(o]
1| 1|I|Il4l lﬂ.---
o |
i 5 LI'rEH
P /

1 s




—
| 6 1/8"
o | | |
3' 5"

3/4" from Imtl:unﬁ
5 ljllrzll

y
"i#




]
__-—--""'_-_-_-_-.
o 5' 4 1E
3' 10 15/32"
- 2' 10 15/32"
::J---"/T

N =




- 1" diameter Steel rod

T,







	A-frame
	Assembeled DIY Medium Treb
	Axle dimensions
	Base
	color code
	CW box cut away
	CW Box together
	CW hanging arms hole measurements
	CW hanging arms measurement 2
	Hardware Layout
	Long Arm
	Side Brace
	Stubby arm measurements

